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Group-A 
'Cii'-QQIQ 

Answer all questions serially. 
· ~l<,;f~6Q ~flg !:]-QJQ QQQ ~~ I 

1. Write the correct answer choosing from the 
alternatives given in each question : 1x15=15 
!:]6'0'YQ !:]-QJ6Q !:]QQ QQifl lcri''ii fl~~ «IO~ QQQ~ QI~ 

6Q'd1 : 

(a) Which one of the following is not a function 
of the commercial banks ? 
§Y]Q~'O' s:lCIY'OJ.. 6QQ~ Ql~§ycq;i QYl'iis:llcri''iiQ 

QlxJY ~2? 
(i) Acceptance of deposit 

~s:ll ~261 

(ii) Advancing loan 
Q61 . !:]Qlcri' 

(iii) Credit creation 
_Q61 ~~ 

(iv}· Note issue 
6cri'I~ !,JC()l'in'cri' 

(b) Which one of the following is non-plan 
expenditure ? 
~Q<qt_'O' s:lCIYVJ. 6Q@~ ~616kll~cri'I QY~ ? 

(i) Interest payment 
~Cl !:]Qlcri' 
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(ii) Expenditure on defence 
~'§Q~I Q%J. 

(iii) Subsidies 
QIQQIQ1 Ql'i?lfCJ.G'I . 

(iv) All of the above . 

Q8QG<q19 <a~@ 

( c) Balanced budget is one in which : · 

Ql~~Q QG~~ G'l'i?I GfJQl'J_GQ : 

(i) Proposed expenditure is equal to antici­
pated· revenue 

~@1~9 Q4fCJ. Ql91Q4 ~lfCJ. QIW Ql~I~ 

(ii) Proposed expenditure is greater than 
anticipated revenue. 

~@IQG' Q4fCJ. Ql91Q4 ~lfCJ.Ol<q ~CJ_Q 

(iii) Proposed expenditure is fess than 

anticipated revenue 

~@IQG> Q4fCJ. Ql91QY ~IQOl<q Qq 

(iv) None of the above 

Q8QQ~G' 6Ql61~~ ~62 

( d) UtilitY means : 

Q86fl!QG'I ~el : 
(i) Exchange valu~ of a commodity 

~%1 ~f(J, Yl_Q4 
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(U) Want satisfying power of a commodity 
§'Q%l GJGIQ QQ€;1 QQQI ~Y191 

(iii) Usefulness of a commodity 
§'QYQ Q<()IGQ!V.91 

(iv) Pleasure derived from a commodity 
~YVl_ ?l<iitf.J.QI GJl'(il~ 

( e) Which one of the following is concerned with 
microeconomics ? 
9Y,JGcqi_9 YlCJYVl_ GQQ~ Qyij GJcicni1~ ~2 ~~g ? 

(l) National income 
~191!(). GJl!V. 

(ii) Theory of economic growth 
GJciG~~ GJQ~ 9~ 

(iii) Theory of general price level 
~ICJIQ€;1 QQ 9~ 

(iv) Theory of consumer behaviour 
QDGG1g1Q QYQ21Q G~ 

(f) Gross National Product at market price 
(GNP mp) is: 
~IQ QQGQ GY11<;;1 ~191!(). ©QIQ G2Q~ : 

(i) Gross Domestic Product at market price 
(GDPmp) + Net factor income from 
abroad 
Q~IQ QQGQ GY11<;;1 QGQIQ QQIQ + QGQ'6llgG 

~ ~ICJ'(il GJl!V. 
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.. 
(ii) Gross Domestic Product at market price 

(GDP mp) - Net Indirect Tax 
<Q'<ai'IQ QQ6Q 6Yll~ Q6QIQ QQIQ - ~ <C:l6QllCJ 

00 

(iii) Net National. Product at factor cost 

(NNP1c) + Net factor income from 

abroad 
QQIQ~ <Q'YQ6Q ~ <m'l91Q QQIQ .+ Q6Q'611g9 

~ ~1cm ~IQ 
(iv) None of the above 

Q<()QQ~9 6QJG1Q~ <q,62 
(g) Which one of the following is to be deducted 

from personal income to get disposable 
"' personal income ? 

?}Y.JQ~9 YICJY<qi Qll!'I~ Qygg9 ~IQ<qL QIQ 6Q6\ii't 
.:._,_ 

Qygg9 . ~!(J_<m'Y ~IQ ?-lQ~l'<I ? 

(i) Direct tax 
~9YICJ GQ 

(ii) · Fees and fines paid to the Government 
~QQIQ~ ~Q@ ?Q. '<!Qo 8'1Q~ 

(iii) Transfer income 
W:i1QG1 ~IQ 

(iv) Both (i) and (ii) 
QQQ {i) '<JQ0 {ii) 
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(h) Which one of the following is the unit of 
account in India ? 

. ~§~g ~Cl4Vl 6~~ @1Qg6Q WIQQ --QQQ ? 

(i) Ten rupees 
~ ~!Qil'I 

(ii) Hundred rupees 
t>162 ~!Qil'I 

(iii) One rupee 
--QQ ~!Qil'I 

(iv) · Rupee 
~!Qil'I 

(i) Opportunity cost is: 
QQi t]QQ4Q 62Q~ : 

(i) Pain and discomfort . undergone by 
labour engaged in production 
QQIW t:JIQ §6!(11§g ~~Q.XJ~Gll (3 ~~12!(;'4 

(ii) Abstinence and sacrifice involved in 
capital accumulation 
Q§i «J~!(l~ 006~ '<l0 £tg Qt:J6Qlg ~g~ (3 gy1g 

(iii) Income foregone in the next best 
alternative use 
t:JQQ@1 «l6QI@~ QQi ~6QlgV)_ Q~g ~l!(l 

(iv) Expenditure incurred in available 
opportunity 
Qt:JQ~ QQi6Q QQIXJIQeJ.QI Q%J. 
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" 
(j) When marginal revenue is less than average · 

revenue, average revenue: 

6£1696~6~ «JWll@ GJIQ 21Ql21Q GJl0.01'91 GYl_ ~. 

l?IQll?lQ GJIQ : 

(i) Remains constant 

~Q Q62 

(ii) Falls 

~I«! rn~ 

(iii) Rises 

~ ~l'<l 
(iv) None of the above 

Q~QQ~9 6QlG]<;a~ ~62 
(k) Which one of the following is a feature of 

Monopoly? 

~Q~9 YICIYVl. 6GQ~ '<IGICJ.GIQQ 6~~y ? 

(i) Indeterminate demand curve 
• 

GJ~IQ9 '(tlWI 6Q~I 

(ii) Single seller and large number of 

buyers 

~6GJ Q6§'91 (3 GJ«J0~Y 6§'91 

(iii) Free entry 

GJ~ICI ~6~ 

(iv) Presence of close substitutes 

~~~~YI ~YQ Q~~£i 
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(I) Which one of the following cost to be 

deducted from gross profit to get net profit ? 
~ QIQ rnQQI~ E>'i?E>Q E>'rll~ QIQVl, ~Q~9 Y'lCJYVl, 

6QQ 8QQ%\~ QIQ E)QQI~ 8~ell~ ? 

(i) Implicit cost 

~cqiyg 8QQ%J. 

(ii) Explicit cost 

~cqiyg 8QQ%l 

(iii) Real cost 

Ql@Q 8QQYfJ. 

(iv) Opportunity cost 

QG~ 8QQYfJ. r 

(m) If due to a fall in the price of a commodity 

by 5 per cent, its quantity demanded rises by 

5 per cent, price elasticity· of demand is : 

£1~ ~Q 00 5 '5191°'51 ~«'! 6291 E;£J 1<91 ~21Q CO>lWIQ 

8Q'rl!Gl 5 '5191°'51 ~ ~ 'O>IWIQ QQ. ~~'6118Q91 

62Q: 

(ii) 0 
0 

(i) 5 

'8. 

(iii) 1 

e 
(iv) None of the above 

@8QQ~9 6§1Gl~~ ~2 
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(n) Which one of the following means 
· production ? 

~Q<G1_'0' YJCJYVl_ E;QQ~ GQIQl~Q CJci ? 

· (i) Creation of utility having exchange value 

WYJQ q_@YeJ_QI Q86£JIQG'1 q&. 

(ii) Creation of matter 

Q~q&. 

(iji) Satisfaction of human wants 

Yll~Q1Q CJQIQ'9l_~QQ «16@1~ QCJ I~ 

(iv) Making factors more productive 

Q8 IQI~~~ Clc.J_Q GQIQ~'511'ffil QQQI 

(o) If total fixed cost is~ 2000, total variable cost 
is ~ 5000 and total output is 100 units, how 
much is the average variable cost ? 

6Y'll~ ~Q 8WJQ 2000 ~~I, 6fll~ 8~1 8WJQ 

. 5000 ~~I '(]Q" 6YJI~ GQIQ 100 '(]QQ ~' 21Ql21Q 

8QQQ1 8QQYQ E;QE;'O' ? 

. (i) ~ 50 

So ~~I 

(iii) ~ 20 
90 ~~I 
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2. Examine the correctness of the following 

statements. Correct them, if necessary, without 

changing the portions underlined : 1 x 15=15 

~<r)Q~~ Qg~~QQ QOQ~I 8Q1181 QQ I ~IQ'614Q ~6'iii', 

6Q'd11~~ ~0'61Q 8QQ@~ ~ QQ, 6Q~~Q Q0 6'6l lcm QQ : 

(a) Imputed rent of entrepreneur's own building 

is included in national income . 

Q6Q415i)IQ'Q ~ S?lW ~16Ql8~ ~CJ6'61~ ~1~1Q ~IQ6Q 
~'Ql~g QQlfCJIQW-Q I 

(b) Gross Domestic Product is eqµal to Gross 

National Product when net factor income from 
' 

abroad is positive. 

6fCJ6~6Q6'iii' ~6~1Q~ ~ QICJ~ ~IQ CJ~lq_Q ~ 

6~1Q Q6QIQ Q£11Q 6~1Q ~1~1Q Q€)1Q QW Q~I~ 

w 
( c) Salary is an example of capital expenditure. 

6QW Q§i Q4QQ -<JQ QQl2QG1 I 

( d) Demand for Giffen good falls with the rise in 
\ 

its price. 

Q6tr~ 5i94Q QI~ QQ6Q '(]21Q 91WI ~IQ 81-<l I 
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( e) Division of national income among various 

. factors of production is called personal 

distribution. 

991~ Q§<ni 9rnQ1g YiC1%Q g1'0'1Q (>J1Q ~1gw 

QY§Q'O' ~g WlflM I 

(f) In a simple economy aggregate demand has 

four components. 

'<IQ QIQCQ;\ GlciQY~l6Q QIY]2 'O'IWIQ '0'16QI~ @rnQ1g 

el l'<l I 

(~) Agriculture is included in the secondary 

sector. 

S:®fil YllCIY~Q 6!8Q6Q W~~9 QQlfllQell'<l I 

(h) When rate of interest increases investment 

increases. 

<;JC121Q ~ rnQ6Q ~6Q~ ~ rn'<l 1 

(i) When marginal revenue becomes zero, total 
revenue becomes minimum. 

6fl6'0'6Q6CQ;\ Q11Yll~ (>JIQ Yl~Y ~; 6Yll~ (>JIQ _ QIQ~ 

621Qel l'<l I 

U) Normal price is real price. 

V.)IQIQQ QQ 62@~ Ql~Q QQ I 
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(k) Interest is ~ residual income . 

. <;J_Cl ~Q ~Q6<5J~IY)Q ~10. I 

(I) The reward obtained exclusively for entrepre­
neurial function is called net profit. 

6QQ<;;;i Q6QYl~IQ' Q1!(]y 81Q ?iSetQI 81Q6~1®QS[ ~ 

QIQ §[21£11~ I 

(m) Demand for necessaries is more elastic. 

~~YIQ<514Q W4<q!~QQ ~IWI ~CJ_Q ~~10. I 

(n) In the longrun all the factors of production are 
variable. 

Q1QQIQ6Q ~<qi Q81Ql~Q~Q 8QQ@~10. I 

(o) When marginal product is negative, total 
product diminishe~. . _ · 

Group- B 

~ - QQIQ 

3. Ai:1swer any eleven of the following questions 
within two to three sentences in each case : 

2x11 =22 
~6~4Q 6~g6Q ~Q~ {}{?{? QIQ4 ~qj6Q §Y)Q~~ 

!J<Ql~l~Q' ~~2 6£16§161~ ~QIQ~Q Q@Q Q~ : 
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" 
(a) What is aggregate supply ? 

~IYJ._W 6£11g1e;i Q' 61 ? 

(b) What is forfeiture? 

QYICCii'YI~ Q'61? 

(c) What is budget ? 

Q6ecii'~ Q'61? 

(d) What is quasi-rent ? 

GJ~ICJ.6~ea Q' 61 ? 

(e) What is monopoly profit ? 

'<lQ~l~GJI @IQ Q' 61 ? 

(f) What is macroeconomics ? 

~Yiij w~1<n>19 Q' 61 ? 

(d) What is national income ? 

ecii'llQ'1Q GJIQ Q' 61 ? · 

(h) What is fixed cost? 
' 

~Q 8Q~Y~ Q' 61 ? 

(i) What rs supply? 

6£11g1e;i Q'61 ? 

(j) What ls market ? 
, 

Qecii'IQ Q' 61 ? 
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.. 
(k) What is oligopoly ? 

CJil~QIQ Q' 61 ? 

(I) What is Wealth ? 

"'J~C(jl Q'S! ? 

(m) What is unitary elastic demand ? 

'-<IQQ ~~lx:JQ ~IWI Q' 61 ? 

(n) What is average product ? 
· ~ 

21Ql21Q QQIC(jl Q' 61 ? 

4. Distinguish between any six of the following. Limit 
your answer to six sentences in each case : 

3x6=18 

~00£' ~~2 6£1G§l61~ U'el~ ~~GQ X]leJQlj OOICJ I gG~Q 
G~~GQ ~Q QUlQ fl/!!16' QIQ%'9l "'11?i£' Q~ : 

(a) Demand deposit and Fixed deposit 

~1°2C(jll g~I (3 ?iCJIC(jl1 g~I 

(b) Developmental expenditure and Non­

developmental expenditure 

Q~Q<rXlQQ QYQ. (3 CJS!Q~Q~YI_QQ QYQ 

(c) Nominal GDP and Real GDP 

G~~ E;~I~ QGQIQ QQIC(jl (3 Ql@Q G~I~ QGQIQ 

QQIC(jl 
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( d) Household consumption demand and private 
Investment demand 

rnQ<QllQQ Q86Qlg <O'IWI (3 Q6QIQ §6<Ql'61 <O'IWI 

(e) Average cost and Marginal cost 

21Ql21Q 8Q<QIY0. (3 '<!Wll~ .8Q<QIY0. 

(f) Gross interest and Net interest 

6Yll<;;' YJ.Cl (3 ~ YJ.Cl 

(g) Free goods and Economic goods 

YJ.~ ~<QIY (3 CJel6£i~Q ~<QIY 

(h) Perfectly elastic demand and Perfectly 
inelastic demand 

'<1~4 ~~~18Q <O'IWI (3 '<1~4 CJ~~l8Q <O'IWI 

Group-C 
g - .QQIQ 

Answer any four of the following questions: 
7.5x4=30 

~~@~ ~Nl~I~~ ~~~ 6£J6§1Gl<:a 916Ql~Q QQQ QCJ : 

5. Describe the circular flow of income in a two 
sector economy. 

~ 6~~ ~~ CJel<QIY<Ql~l6Q CJl0.Q ~§110. ~<Q\12 ~~I 
QQ I 
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6. Discuss the functions of the Central Bank. 

GQg!Q QYIQ'Q QlklYIQ91 CJIGQl<Ql~I QQ I 

7. Discuss the factors determining real wage. 

Ql@Q ~~Q ~IQ61 QVl.eJ.CCi'I Q'tJl~I~ «iq_2Q CJ I GQl<Ql~I 

QQ I 

8. Explain how price is determined under Perfect 
competition. 

Q~ !J~GSCJl§91GQ ~Q OOQ ~IQ9 ~ QYl~YI QQ I 

9. Explain the law of Equi-marginal utility. 

'<l~'<lml~ Q'06SCll§91 ·%' QYl~YI QQ I 

10. Discuss the central problems of an economy. 

'<IQ W~JQY~IQ GQg!Q '<l~'<lYl<q}_~Q Cl 'IGQl'O>~I QQ I 
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